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Exercises on the Arithmetic Sequences and Arithmetic Series 

1) An arithmetic sequence its tenth term equals 1 and its sixteenth term equals – 27. Find the  

    sequence. 
Solu: ………………………………………………………………     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

 

2) Find the order and value of the first negative term in the arithmetic sequence (Tn) , where  

     Tn = (65 , 62 , 59 , ……......) 
Solu: ………………………………………………………………     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

 

3) Find the sum of 9 arithmetic means between 2 , 52 
Solu: ………………………………………………………………     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

 

4) An arithmetic sequence in which the sum of its first five terms equals 10 and the sum of the  

    next four terms equals 116. Find the sequence. 
Solu: ………………………………………………………………     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 
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Exercises on the composite function 

5) If  y = 
𝑧 − 2

𝑧 + 2
   ,  z = 

𝑥 + 2

𝑥 − 2
   ,  then find  

𝑑𝑦

𝑑𝑥
  

Solu: ………………………………………………………………     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

 

6) If  y = ( 
𝑥 − 1

𝑥 + 1
 )

2
  ,  then  find  

𝑑𝑦

𝑑𝑥
  when  x = 1  

Solu: ………………………………………………………………     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

 

7) If  y = √(2𝑥3 − 3𝑥 + 5)23
   ,  find  

𝑑𝑦

𝑑𝑥
  when  x = 2 

Solu: ………………………………………………………………     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 
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Exercises on Trig. fun. of Difference of 2 angles 

8) Write the expression  𝑐𝑜𝑠 (𝐴 − 𝐵) − cos  (𝐴 + 𝐵)  in the simplest form. 
Solu: ………………………………………………………………     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

 

9) Find the solution set of the equation:  𝑠𝑖𝑛 𝑥 𝑐𝑜𝑠 (10o − 𝑥) − 𝑐𝑜𝑠 𝑥 𝑠𝑖𝑛 (10o − 𝑥) =  
1

2
 ,  

    0 < 𝑥 < 90o 
Solu: ………………………………………………………………     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

 

10) If A , B are two acute angles where  sin A = 
12

13
  ,  sin B = 

4

5
  ,  then find the value of (A – B) 

Solu: ………………………………………………………………     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

……………………………………………………………………...     …………………………………………………………………… 

 




